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This is a development version of Maxima. The function bug_report()
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This is redoing the Maple worksheet from Honors Calculus II April 12, 2010 using Maxima.

(%i1) f:1/(1+x"2);
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(%i2) df:diff(f,x);
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(%13) a:integrate(sqrt(1+df~2),x,0,2);
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(%15) quad_qgags(sqrt(1+df~2),x,0,2);
(%05) [2.177856708765146,6.4408309387326249 X 10_11,63,0]

(%16) eql:y=4*x-x"2;
eq2:y=x;

(%06) y=4z—22

(%o7) y=x

(%i8) solve([eql,eq2], [x,y]);
(%08) [[x=3,y=3],[z=0,y=0]]
Chi9)

rintegrate (4*x-x~2-x,%,0,3);

(%09)
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(%110) p:4*x-x"2;
(%010) 4z — 22

(%i11) plot2d([p,x],[x,0,31)$
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xbar:1/A*integrate (x*(p-x),x,0,3);
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ybar:1/A*integrate ((p+x)/2*(p-x),x,0,3);
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taylor (exp(h),h,0,7);
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taylor(sin(h),h,0,10);
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sl:taylor(cos(sin(h)),h,0,10);
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s2:taylor(cos(h),h,0,10);
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(%i28) nl:cos(sin(h))-cos(h);

(%029) cos (sin (h)) —cos (h)

(%130) di:h"4;

(%030) h*

(%i31) n2:diff(nl,h,4);

(%031)  —6cos (h)*sin (h)sin (sin (h)) — sin (k) sin (sin (h)) — 3sin (k) cos (sin (h)) + cos (h)* cos (sin (h)) +
4 cos (h)*cos (sin (h)) — cos (h)

(%132) d2:diff(d1,h,4);

(%ho32) 24

(%i33) a2:subst(h=0,n2/d2);
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